
  

67/4/1  JJJJ Page 1 P.T.O.   

narjmWu àíZ-nÌ H$moS> >H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð >na Adí` {bIo§ & 
Candidates must write the Q.P. Code on 
the title page of the answer-book. 

Series EF1GH/4 SET~1 

         
 Q.P. Code  

Roll No. 
 
 

 
boImemñÌ 

ACCOUNTANCY 
* 

: 3 : 80 
Time allowed : 3 hours Maximum Marks : 80 

 
NOTE :

(i) - 39
 Please check that this question paper contains 39 printed pages. 

(ii) - - -
-

 Q.P. Code given on the right hand side of the question paper should be written on the title 
page of the answer-book by the candidate. 

(iii) - 34 

 Please check that this question paper contains 34 questions.  

(iv) -

 Please write down the serial number of the question in the answer-book before 
attempting it. 

(v) -  15 -
10.15 10.15 10.30 -

-
 15 minute time has been allotted to read this question paper. The question paper  will  be 

 distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 

67/4/1 



  

67/4/1  JJJJ Page 2 

: 

: 

(i) 34  

(ii)  

(iii) 

(iv)  (1) (2)

(v) 1 16 27 30  

(vi) 17 20, 31 32  

(vii) 21, 22 33 

(viii) 23 26 34 

(ix) 7
2 1 2

^mJ> H$ 
(gmPoXmar \$_m] VWm H$ån{Z`m| Ho$ {bE boIm§H$Z) 

1. {dO` VWm AO` EH$ \$_© Ho$ gmPoXma h¢ & gmPoXmar g§boI Ho$ AZwgma AmhaU na  
12% dm{f©H$ Xa go ã`mO {X`m OmEJm & AmhaU na ã`mO H$mo bm^-hm{Z {d{Z`moOZ ImVo _| 
hñVmÝV[aV H$aZo Ho$ {bE {ZåZ{b{IV _| go H$m¡Z-go ImVo Ho$ Zm_ nj _| IVm¡Zr H$s  
OmEJr ? 1 

(a) AmhaU na ã`mO ImVm  
(b) ~¢H$ ImVm  
(c) gmPoXmam| Ho$ Mmby ImVo  
(d) gmPoXmam| Ho$ ny±Or ImVo  

2. a_oe, gwaoe VWm Zaoe H$s \$_© Ho$ {dKQ>Z na Zaoe g^r dgybr ì`` dhZ H$aZo Ho$ {bE 
gh_V hþAm {OgHo$ {bE Cgo < 14,500 H$m ^wJVmZ {H$`m J`m & dgybr Ho$ dmñV{dH$ 
ì``m| < 11,000 H$m ŵJVmZ Zaoe Ûmam {H$`m J`m & 

 Zaoe Ho$ ny±Or ImVo Ho$ O_m nj _| IVm¡Zr H$s OmZo dmbr am{e hmoJr : 1 

(a) < 11,000 (b) < 3,500 

(c) < 14,500 (d) < 25,500 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) This question paper contains 34 questions. All questions are compulsory. 

(ii) This question paper is divided into two parts  Part A and Part B. 

(iii) Part A is compulsory for all candidates.  

(iv) Part B has two options i.e. (1) Analysis of Financial Statements, and  
(2) Computerised Accounting. Candidates must attempt only one of the given 
options as per the subject opted in Part B. 

(v) Questions no. 1 to 16 and 27 to 30 carry 1 mark each. 

(vi) Questions no. 17 to 20, 31 and 32 carry 3 marks each. 

(vii) Questions no. 21, 22 and 33 carry 4 marks each. 

(viii) Questions no. 23 to 26 and 34 carry 6 marks each. 

(ix) There is no overall choice. However, an internal choice has been provided in  
7 questions of one mark, 2 questions of three marks, 1 question of four marks 
and 2 questions of six marks.  

PART A  
(Accounting for Partnership Firms and Companies)  

1. Vijay and Ajay are partners in a firm. The partnership agreement 
provides for interest on drawings @ 12% per annum. Which of the 
following account will be debited to transfer interest on drawings to 
Profit and Loss Appropriation A/c ?  1 

(a) Interest on Drawings Account 

(b) Bank Account 

(c) Partners  Current Account    

(d) Partners  Capital Account 

2. On dissolution of the firm of Ramesh, Suresh and Naresh, Naresh had 
agreed to bear all realisation expenses for which he was paid < 14,500. 
Actual expenses on realisation amounted to < 11,000 which were paid by 

:  1 

(a) < 11,000 (b) < 3,500 

(c) < 14,500 (d) < 25,500 
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3. (i) _Z_mohZ {b{_Q>oS> Zo < 10 àË òH$ Ho$ 50,000 g_Vm A§em| H$mo g__yë` na {ZJ©{_V 
H$aZo Ho$ {bE AmdoXZ Am_§{ÌV {H$E & à{V A§e am{e H$m ŵJVmZ {ZåZ àH$ma go 
Xò  Wm : 

  AmdoXZ na < 3; Am~§Q>Z na < 4 VWm àW_ Ed§ ApÝV_ `mMZm na < 3 & 
  1,45,000 g_Vm A§em| Ho$ {bE AmdoXZ àmá hþE & 20,000 A§em| Ho$ AmdoXZm| H$mo 

aÔ H$a {X`m J`m VWm eof AmdoXH$m| H$mo AmZwnm{VH$ AmYma na A§em| H$m Am~§Q>Z 
{H$`m J`m & AmdoXZ na àmá A{V[aº$ am{e H$m g_m`moOZ Am~§Q>Z VWm àW_ Ed§ 
ApÝV_ `mMZm na Xò  am{e _| H$a {b`m J`m & A{J«_ `mMZm ImVo Ho$ O_m nj _| 
H$s JB© IVm¡Zr H$s am{e Wr : 1 

(a) < 2,25,000 (b) < 25,000 
(c) < 1,75,000 (d) eyÝ` 

 AWdm 
 (ii) A{^XÎm ny±Or Ho$ {df` _| {ZåZ{b{IV _| go H$m¡Z-gm H$WZ ghr h¡ ? 1 

(a) `h A§e ny±Or H$s dh am{e h¡ {Ogo g§ñWm Ho$ ~{h{Z©`_m| Ho$ AZwgma EH$ 
H$ånZr {ZJ©_Z Ho$ {bE A{YH¥$V h¡ & 

(b) `h A{YH¥$V ny±Or H$m dh ^mJ h¡ {Ogo A{^XmZ Ho$ {bE OZVm H$mo 
dmñV{dH$ ê$n go {ZJ©{_V {H$`m J`m h¡ & 

(c) `h {ZJ©{_V ny±Or H$m dh ^mJ h¡ {Ogo OZVm Zo dmñVd _| A{^XÎm {H$`m  
h¡ & 

(d) `h `m{MV (_m±Jr JB©) ny±Or H$m dh ^mJ h¡ {Ogo A§eYmaH$m| go dmñV{dH$ 
ê$n go àmá {H$`m J`m h¡ & 

4. (i) A{_V, EH$ gmPoXma Zo 1  2020 H$mo < 1,20,000 H$m G$U \$_© H$mo  
{X`m & gmPoXmar g§boI H$s AZwnpñW{V _| 31 _mM©, 2021 H$mo G$U na Xò  ã`mO 
H$s am{e hmoJr : 1 

(a) < 3,600  (b) < 7,200 
(c) < 12,000 (d) < 6,000 

 AWdm 
 (ii) {dO`, AO` VWm g§O` EH$ \$_© Ho$ gmPoXma h¢ VWm bm^-hm{Z 7 : 5 : 8 Ho$ 

AZwnmV _| ~m±Q>Vo h¢ & 28 AJñV, 2021 H$mo g§O` H$s _¥Ë ẁ hmo JB© & _¥Ë ẁ H$s {V{W 
VH$ \$_© Ho$ bm^m| _| CgHo$ ^mJ H$s JUZm < 75,000 H$s JB© & BgH$s IVm¡Zr 
{ZåZ{b{IV _| go H$m¡Z-go ImVo Ho$ Zm_ nj _| H$s OmEJr ? 1 

(a) bm^-hm{Z CM§V ImVm  
(b) bm^-hm{Z ImVm  
(c) bm^-hm{Z {d{Z`moOZ ImVm 
(d) bm^-hm{Z g_m`moOZ ImVm  
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3. (i) Manmohan Ltd. invited applications for issuing 50,000 equity 
shares of < 10 each at par. The amount payable per share was as 
follows : 

  On application < 3; on allotment < 4 and on first and final  
call < 3. 

  Applications were received for 1,45,000 equity shares. Applications 
for 20,000 equity shares were rejected and remaining applicants 
were allotted shares on a pro-rata basis. Excess application money 
received with application was adjusted towards sums due on 
allotment and first and final call. Amount credited to  
calls-in-advance account was :  1 
(a) < 2,25,000 (b) < 25,000 
(c) < 1,75,000 (d) Nil 

 OR 
(ii) Which of the following statement is correct regarding subscribed 

capital ?  1 
(a) It is the amount of share capital which a company is 

authorised to issue by its Memorandum of Association. 
(b) It is that part of authorised capital which is actually issued 

to the public for subscription. 
(c) It is that part of the issued capital which has been actually 

subscribed by the public. 
(d) It is that part of the called-up capital which has been 

actually received from shareholders.   

4. (i) On 1st October 2020, Amit, a partner, advanced a loan of  
< 1,20,000 to the firm. In the absence of partnership deed, the 
amount of interest on loan to be paid on 31st March, 2021 will be :  1 
(a) < 3,600 (b) < 7,200 
(c) < 12,000 (d) < 6,000 

 OR 
(ii) Vijay, Ajay and Sanjay are partners in a firm sharing profits and 

losses in the ratio of 7 : 5 : 8. Sanjay died on 28th August, 2021. His 
share in the profits of the firm till the date of his death was 
determined at < 75,000. It will be debited to which of the following 
accounts ?  1 
(a) Profit and Loss Suspense Account 
(b) Profit and Loss Account  
(c) Profit and Loss Appropriation Account 
(d) Profit and Loss Adjustment Account  
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5. (i) AZwamYm {b{_Q>oS> Zo < 100 àË òH$$ Ho$ 2,00,000, 7% G$UnÌm| H$mo 5% ~Åo na 
{ZJ©{_V {H$`m, {OZH$m emoYZ 5% àr{_`_ na H$aZm h¡ & G$UnÌm| Ho$ {ZJ©_Z na 
~Åo VWm emoYZ na àr{_`_ H$m boIm G$UnÌ {ZJ©_Z hm{Z ImVm|  Ho$ _mÜ`_ go 
{H$`m J`m & G$UnÌm| Ho$ {ZJ©_Z na G$UnÌ {ZJ©_Z hm{Z ImVo  _| IVm¡Zr H$s 
OmEJr : 1 

(a) < 10,00,000 go O_m nj _| 
(b) < 10,00,000 go Zm_ nj _| 

(c) < 20,00,000 go Zm_ nj _| 

(d) < 20,00,000 go O_m nj _| 

 AWdm 

 (ii) Xrjm {b{_Q>oS> Zo < 100 àË òH$ Ho$ 4,000, 9% G$UnÌm| H$mo 10% Ny>Q> na {ZJ©{_V 
{H$`m {OZH$m emoYZ àr{_`_ na {H$`m OmZm Wm & G$UnÌm| Ho$ {ZJ©_Z na ~Å>o  Am¡a  
G$UnÌm| Ho$ emoYZ na àr{_`_  H$m boIm G$UnÌ {ZJ©_Z hm{Z ImVo  Ho$ _mÜ`_ go 
{H$`m J`m & `{X G$UnÌ {ZJ©_Z hm{Z ImVo  _| < 60,000 Wo, Vmo G$UnÌm| Ho$ 
emoYZ na àr{_`_ H$s am{e Wr : 1 

(a) < 60,000 (b) < 40,000 

(c) < 20,000 (d) < 80,000

6. A{^H$WZ (A) :  \$_© Ho$ nwZJ©
nwZ_y©ë`m§H$Z  ImVo Ho$ Zm_ nj _| H$s OmVr h¡ &    

H$maU (R) :  Xò VmAm| Ho$ _yë` _| d¥{Õ hm{Z hmoVr h¡ &     

{ZåZ{b{IV _| go ghr {dH$ën H$m M`Z H$s{OE : 1 

(a) A{^H$WZ (A)  ghr h¡, naÝVw H$maU (R)  µJbV h¡ &  

(b) A{^H$WZ (A)  µJbV h¡, naÝVw H$maU (R)  ghr h¡ & 

(c) A{^H$WZ (A)  VWm H$maU (R) XmoZm| ghr h¢ VWm H$maÊm (R), A{^H$WZ (A) H$s 
ghr ì`m»`m h¡ &  

(d) A{^H$WZ (A)  VWm H$maU (R) XmoZm| µJbV h¢ &

7. EH$ \$_© Ho$ {dKQ>Z na pñW{V {ddaU _| Xem©`m J`m \$ZuMa < 2,00,000 Wm & \$ZuMa 
H$m 50% EH$ gmPoXma Zo < 65,000 _| bo {b`m VWm eof 50% H$mo nwñVH$ _yë` go 20% 
H$_ na ~oMm J`m & ~¢H$ ImVo Ho$ Zm_ nj _| IVm¡Zr H$s JB© am{e Wr :  1 

(a) < 1,45,000  (b) < 80,000  

(c) < 65,000  (d) < 1,85,000  
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5. (i) Anuradha Ltd. issued 2,00,000, 7% debentures of < 100 each at a 
discount of 5% redeemable at a premium of 5%. Discount on issue 
and premium o Loss on  
Issue of Debentures Account. On issue of debentures, Loss on 
Issue of Debentures Account  will be :  1 

(a) Credited by < 10,00,000 

(b) Debited by < 10,00,000 

(c) Debited by < 20,00,000 

(d) Credited by < 20,00,000 

 OR 
(ii) Diksha Ltd. issued 4,000, 9% Debentures of < 100 each at a 

 Issue of  
 R  

accounted for through oss on Issue of Debentures Acco
I < 60,000, 

then the amount of premium on redemption was : 1 
(a) < 60,000  (b) < 40,000 
(c) < 20,000 (d) < 80,000 

6. Assertion (A) :  Increase in the value of liabilities on reconstitution of a 
firm is debited to Revaluation Account.   

 Reason (R) :  Increase in the value of liabilities is a loss.     1 

   Select the correct alternative from the following :  
(a) Assertion (A) is correct, but Reason (R) is wrong.  
(b) Assertion (A) is wrong, but Reason (R) is correct. 
(c) Both Assertion (A) and Reason (R) are correct and Reason (R) is  

the correct explanation  of Assertion (A). 
(d) Both Assertion (A) and Reason (R) are wrong. 

7. On dissolution of a partnership firm, furniture appearing in the Balance 
Sheet was < 2,00,000. 50% of the furniture was taken over by a partner 
at < 65,000 and balance 50% was sold at 20% less than the book value. 
The amount debited to bank account was : 1 

(a) < 1,45,000 (b) < 80,000 

(c) < 65,000 (d) < 1,85,000 
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8. A`m{MV (_m±Jr Zht JB©) A§e ny±Or H$m dh ^mJ {OgH$s `mMZm Ho$db H§$nZr Ho$ {dKQ>Z Ho$ 
g_` hr H$s Om gH$Vr h¡, H$hbmVr h¡ : 1 

(a) {ZJ©{_V n±yOr  

(b) àXÎm n±yOr 

(c) g§{MV ny±Or  

(d) A{ZJ©{_V ny±Or 

9. (i) [a`m VWm gwa^r EH$ \$_© _| gmPoXma Wo VWm 3 : 2  Ho$ AZwnmV _| bm^-hm{Z ~m±Q>Vo 
Wo & 1 Aà¡b, 2022 go do bm^m| H$mo ~am~a-~am~a ~m±Q>Zo Ho$ {bE gh_V hþE & \$_© 
H$s »`m{V H$m _yë`m§H$Z < 3,00,000 {H$`m J`m & g_m`moOZ {ZåZ{b{IV _| go 
{H$g boZXoZ Ûmam {H$`m OmEJm ? 1 

(a) gwa^r Ho$ Zm_ nj _| < 30,000 VWm [a`m Ho$ O_m nj _| < 30,000 H$s  
IVm¡Zr & 

(b) [a`m Ho$ Zm_ nj _| < 30,000 VWm gwa^r Ho$ O_m nj _| < 30,000 H$s  
IVm¡Zr & 

(c) gwa^r Ho$ Zm_ nj _| < 3,000 VWm [a`m Ho$ O_m nj _| < 3,000 H$s 
IVm¡Zr & 

(d) [a`m Ho$ Zm_ nj _| < 3,000 VWm gwa^r Ho$ O_m nj _| < 3,000 H$s 
IVm¡Zr &

 AWdm 

 (ii) Z_Z, gw_Z VWm _mo{hV EH$ \$_© _| gmPoXma Wo VWm 8 : 5 : 3  Ho$ AZwnmV _| bm^m| 

H$m {d^mOZ H$aVo Wo & 1 Aà¡b, 2022 go CÝhm|Zo `h {ZU©̀  {b`m {H$ ^{dî` _| do 

bm^m| H$m {d^mOZ 5 : 6 : 5 Ho$ AZwnmV _| H$a|Jo & {ZåZ{b{IV _| go bm^-{d^mOZ 

AZwnmV _| n[adV©Z Ho$ H$maU gmPoXmam| Ho$ A{Ybm^ d Ë`mJ H$s nhMmZ H$s{OE : 1 

(a) Z_Z H$m A{Ybm^ 
16
3 , gw_Z H$m Ë`mJ 

16
1 , _mo{hV H$m Ë`mJ 

16
2  

(b) Z_Z H$m Ë`mJ 
16
3 , gw_Z H$m A{Ybm^ 

16
1 , _mo{hV H$m A{Ybm^ 

16
2  

(c) Z_Z H$m Ë`mJ 
16
3 , gw_Z H$m A{Ybm^ 

16
2 , _mo{hV H$m A{Ybm^ 

16
1  

(d) Z_Z H$m bm^ 
16
3 , gw_Z H$m Ë`mJ 

16
2 , _mo{hV H$m Ë`mJ 

16
1  
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8. Part of the uncalled share capital that can be called up only at the time of 
winding up of the company is called : 1 

(a) Issued capital  

(b) Paid-up capital   

(c) Reserve capital  

(d) Un-issued capital  

9. (i) Ria and Surbhi were partners in a firm sharing profits and losses 
in the ratio of 3 : 2. With effect from 1st April, 2022, they agreed to 
share profits equally. The goodwill of the firm was valued at  
< 3,00,000. The adjustment will be done by which of the following 
transaction ? 1 

(a)  by < 30,000 
account by < 30,000. 

(b) < 30,000 
account by < 30,000.  

(c) < 3,000 s 
account by < 3,000.  

(d) < 3,000 
account by < 3,000. 

  OR 

(ii) Naman, Suman and Mohit were partners in a firm sharing profits 
in the ratio 8 : 5 : 3. With effect from 1st April, 2022, they decided 
that in future, they will share the profits in the ratio 5 : 6 : 5. 
Identify the gain or sacrifice by the partners due to change in 
profit sharing ratio, from the following : 1 

(a) 
16
3

16
1

, Mo
16
2

  

(b) 
16
3

16
1

16
2

  

(c) 
16
3

16
2

 gain 
16
1

  

(d) 
16
3

16
2

16
1
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10. gwOmVm {b{_Q>oS> Zo < 100 àË òH$ Ho$ 5,000, 7% G$UnÌm| H$m {ZJ©_Z 10% àr{_`_ na 

{H$`m & {ZJ©_Z H$s eVm] Ho$ AZwgma am{e H$m 40% AmdoXZ na VWm eof Am~§Q>Z na Xò   

Wm & {ZJ©_ nyU© ê$n go A{^XÎm hmo J`m VWm nyU© am{e àmá hmo JB© & AmdoXZ VWm Am~§Q>Z 

na àmá am{e H«$_e: Wr : 1 

(a) < 2,50,000 VWm < 3,00,000 
(b) < 2,00,000 VWm < 3,00,000 

(c) < 2,00,000 VWm < 3,50,000 

(d) < 2,00,000 VWm < 2,50,000 

11. EH$ \$_© H$s »`m{V H$s JUZm {nN>bo Mma dfm] Ho$ Am¡gV bm^ Ho$ VrZ dfm] Ho$ H«$` Ho$ 

AmYma na H$s JB© & 31 _mM© H$mo g_má hþE {nN>bo Mma dfm] Ho$ bm^ Wo : 

 df©  bm^/hm{Z (<) 

 2018  19 (14,500) 

 2019  20 15,400 

 2020  21 32,900 

 2021  22 16,800 

 \$_© H$s »`m{V H$m _yë` hmoJm :  1 

(a) < 8,885 

(b) < 37,950 

(c) < 58,950 

(d) < 20,690   

12. N>{d {b{_Q>oS> Zo < 10 àË òH$ Ho$ 5,000 g_Vm A§e, {OÝh| < 5 à{V A§e Ho$ àr{_`_ na 

{ZJ©{_V {H$`m J`m Wm, < 4 à{V A§e H$s àW_ Ed§ A§{V_ `mMZm H$m ^wJVmZ Z H$aZo na 
haU H$a {b`m & haU na A§e haU ImVo  Ho$ O_m nj _| IVm¡Zr H$s JB© am{e hmoJr : 1 

(a) < 20,000  
(b) < 30,000 

(c) < 50,000 

(d) < 55,000 
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10. Sujata Ltd. issued 5,000, 7% Debentures of < 100 each at a premium of 
10%. According to the terms of issue, 40% of the amount was payable on 
application and the balance on allotment. The issue was fully subscribed 
and all amounts were duly received. The amounts received on application 
and allotment respectively were : 1 

(a) < 2,50,000 and < 3,00,000  

(b) < 2,00,000 and < 3,00,000 

(c) < 2,00,000 and < 3,50,000 

(d) < 2,00,000 and < 2,50,000  

11. The goodwill of a firm was valued on the basis of 3 years purchase of 
average profits for the last four years. The profits of last four years 
ending 31st March were as follows :  

 Year  Profit/Loss (<) 

 2018  19 (14,500) 

 2019  20 15,400 

 2020  21 32,900 

 2021  22 16,800 

 The value of goodwill of the firm was :  1 

(a) < 8,885 

(b) < 37,950 

(c) < 58,950 

(d) < 20,690   

12. Chavi Ltd. forfeited 5,000 equity shares of < 10 each issued at a 
premium of < 5 per share for non-payment of first and final call of < 4 

: 1 

(a) < 20,000 

(b) < 30,000   

(c) < 50,000  

(d) < 55,000  
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13 
14

Ho$ed, H¥$îUm VWm _wamar gmPoXma Wo VWm 3 : 2 : 1 Ho$ AZwnmV _| bm^-hm{Z ~m±Q>Vo Wo & CZH$s 

ñWm`r ny±Or H«$_e: < 12,00,000, < 10,00,000 VWm < 8,00,000 Wt & `h gh_{V hþB© 

{H$ ny±Or na ã`mO 10% dm{f©H$ Xa go {X`m OmEJm & gmPoXma {ZåZ àH$ma go doVZ Ho$ hH$Xma 

hm|Jo :  

Ho$ed < 5,000  à{V _mh VWm H¥$îUm < 3,000 à{V {V_mhr &  

31 _mM©, 2022 H$mo g_má hþE df© _| \$_© H$m bm^ < 6,72,000 Wm &  

13. gmPoXmam| Ho$ Mmby ImVm| Ho$ O_m nj _| n±yOr na ã`mO  VWm doVZ  Ho$ {bE IVm¡Zr H$s 
OmZo dmbr am{e Wr : 1 

(a) Ho$ed < 1,20,000, H¥$îUm < 1,00,000 Am¡a _wamar < 80,000  

(b) Ho$ed < 1,80,000, H¥$îUm < 1,12,000 Am¡a _wamar < 80,000  

(c) Ho$ed < 60,000, H¥$îUm < 12,000 Am¡a _wamar < eyÝ` 

(d) Ho$ed < 3,30,000, H¥$îUm < 2,12,000 Am¡a _wamar < 1,30,000 

14. gmPoXmam| Ho$ Mmby ImVm| _| hñVmÝV[aV H$s OmZo dmbr bm^ H$s am{e Wr : 1 

(a) Ho$ed < 1,00,000, H¥$îUm < 1,50,000 VWm _wamar < 50,000  

(b) Ho$ed < 50,000, H¥$îUm < 1,50,000 VWm _wamar < 1,00,000  

(c) Ho$ed < 1,50,000, H¥$îUm <  1,00,000 VWm _wamar < 50,000   
(d) Ho$ed < 1,51,500, H¥$îUm < 1,01,000 VWm _wamar < 50,500 

15. Zrdm, Z_Z VWm {ZË`_ gmPoXma Wo VWm 4 : 3 : 2 Ho$ AZwnmV _| bm^ ~m±Q>Vo Wo & \$_© Ho$ 

nwZJ©R>Z na Zrdm VWm Z_Z àË òH$ AnZo ^mJ _| go 
9
1  ^mJ {ZË`_ H$mo XoVo h¢ & Zrdm, Z_Z 

VWm {ZË`_ H$m Z`m bm^-{d^mOZ AZwnmV hmoJm : 1 

(a) 3 : 4 : 2 

(b) 2 : 3 : 4 

(c) 4 : 2 : 3 

(d) 3 : 2 : 4 
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Read the following hypothetical situation and answer questions number  

13 and 14 on the basis of the given information :  

 Keshav, Krishna and Murari were in partnership sharing profits and 

losses in the ratio of 3 : 2 : 1. Their fixed capitals were : < 12,00,000,  

< 10,00,000 and < 8,00,000 respectively. It was agreed that interest on 

capital will be allowed at 10% per annum. Partners were entitled to 

salaries as follows :  

 Keshav < 5,000 per month and Krishna < 3,000 per quarter.  

 Profit of the firm for the year ended 31st March, 2022 was < 6,72,000. 

13. Amount credited to the Partner  Accounts 
:  1 

(a) Keshav < 1,20,000, Krishna < 1,00,000 and Murari < 80,000 

(b) Keshav < 1,80,000, Krishna < 1,12,000 and Murari < 80,000 

(c) Keshav < 60,000, Krishna <  12,000 and Murari < Nil  

(d) Keshav < 3,30,000, Krishna < 2,12,000 and Murari < 1,30,000 

14. Current Accounts was : 1 

(a) Keshav < 1,00,000, Krishna < 1,50,000 and Murari < 50,000 

(b) Keshav < 50,000, Krishna < 1,50,000 and Murari < 1,00,000 

(c) Keshav < 1,50,000, Krishna < 1,00,000 and Murari < 50,000 

(d) Keshav < 1,51,500, Krishna < 1,01,000 and Murari < 50,500 

15. Niva, Naman and Nityam were partners sharing profits in the ratio of  
4 : 3 : 2. Niva and Naman each give 

9
1

 from their share to Nityam on 
reconstitution of the firm. The new profit sharing ratio among Niva, 
Naman and Nityam will be :  1 

(a) 3 : 4 : 2  

(b) 2 : 3 : 4 

(c) 4 : 2 : 3 

(d) 3 : 2 : 4 
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16. (i) AZw, _moZy VWm gmoZy EH$ \$_© _| gmPoXma Wo VWm 5 : 3 : 2  Ho$ AZwnmV _| bm^m| H$m 

{d^mOZ H$aVo Wo & 1 OZdar, 2022 H$mo _moZy H$m {ZYZ hmo J`m & AZw VWm gmoZy, 

_moZy Ho$ ^mJ H$m A{YJ«hU {ZåZ AZwnmV _| H$a|Jo : 1 

(a) 1 : 1 (b) 3 : 2 

(c) 5 : 3 (d) 5 : 2 

 AWdm 

 (ii) {d{XV, gw{_V VWm _rVm EH$ \$_© _| gmPoXma Wo VWm 4 : 3 : 1 Ho$ AZwnmV _| bm^m| 

H$m {d^mOZ H$aVo Wo & _rVm H$m {ZYZ hmo J`m VWm CgH$m gmam ^mJ {d{XV Zo bo 

{b`m & {d{XV VWm gw{_V H$m Z`m bm^-{d^mOZ AZwnmV hmoJm : 1 

(a) 1 : 1 (b) 5 : 3 

(c) 3 : 5 (d) 5 : 2 

17. amo{hV VWm _mo{hV EH$ \$_© Ho$ gmPoXma Wo VWm 3 : 2 Ho$ AZwnmV _| bm^-hm{Z ~m±Q>Vo Wo & 

amhþb H$mo bm^ _| 
3
1  ^mJ Ho$ {bE EH$ Z`m gmPoXma ~Zm`m J`m & \$_© H$s »`m{V H$m 

_yë`m§H$Z < 30,000 {H$`m J`m & amhþb AnZr ny±Or Ho$ {bE < 40,000 VWm »`m{V 

àr{_`_ Ho$ AnZo ^mJ _| go < 5,000 ZJX bm`m & amhþb Ho$ àdoe Ho$ g_` \$_© H$s 

nwñVH$m| _| »`m{V < 15,000 na Xem©B© J`r Wr &  

 amhþb Ho$ àdoe na \$_© H$s nwñVH$m| _| Cn ẁ©º$$ boZXoZm| Ho$ {bE Amdí`H$ amoµOZm_Mm 

à{dpîQ>`m± H$s{OE & 3 

18. (H$) _mo{ZH$m, ^y{_H$m VWm H$_mo{bH$m gmPoXma h¢ VWm 6 : 4 : 1 Ho$ AZwnmV _| bm^ 

~m±Q>Vr h¢ & H$_mo{bH$m H$mo bm^m| _| AnZo ^mJ Ho$ {bE < 3,00,000 H$s Ý ỳZV_ 

am{e H$s Jma§Q>r Xr JB© h¡ & 31 _mM©, 2022 H$mo g_má hþE df© _| \$_© H$mo  

< 22,00,000  H$m ewÕ bm^ hþAm &  

  31 _mM©, 2022 H$mo g_má hþE df© Ho$ {bE \$_© H$m bm^-hm{Z {d{Z`moOZ ImVm 

V¡̀ ma H$s{OE &  3 

 AWdm 
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16. (i) Anu, Monu and Sonu were partners in a firm sharing profits in the 

ratio of 5 : 3 : 2. Monu died on 1st January, 2022. Anu and Sonu 

: 1 

(a) 1 : 1  (b) 3 : 2 

(c) 5 : 3 (d) 5 : 2 

  OR 

(ii) Vidit, Sumit and Mita were partners in a firm sharing profits in 

the ratio of 4 : 3 : 1. Mita died and her entire share was taken up 

by Vidit. The new profit sharing ratio of Vidit and Sumit will be : 1 

(a) 1 : 1 (b) 5 : 3 

(c) 3 : 5  (d) 5 : 2 

17. Rohit and Mohit were partners in a firm sharing profits and losses in the 

ratio of 3 : 2. Rahul was admitted into partnership for 
3
1

share in profits. 

Goodwill of the firm was valued at < 30,000. Rahul brought < 40,000 as 

capital and < 5,000 out of his share of goodwill premium in cash. At the 

firm at < 15,000. 

 Pass necessary journal entries  for the above transactions in the books of 

 3 

18. (a) Monika, Bhoomika and Kamolika are partners sharing profits in 

the ratio of 6 : 4 : 1. Kamolika is guaranteed a minimum amount of 

< 3,00,000 as her share in profits. The firm earned a net profit of 

< 22,00,000 for the year ended 31st March 2022.  

  Prepare Profit and Loss Appropriation Account of the firm for the 

year ended 31st March, 2022.  3 

  OR 
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 (I) AZÝ`m, ^mdr VWm Mm±XZr EH$ \$_© _| gmPoXma Wt VWm CZH$s ny±Or H«$_e:  

< 3,00,000, < 2,00,000 VWm < 1,00,000  Wt & 

gmPoXmar g§boI Ho$ àmdYmZm| Ho$ AZwgma :  

(i) AZÝ`m VWm Mm±XZr àË òH$ < 1,500 _m{gH$ doVZ H$s hH$Xma Wt & 

(ii) ^mdr < 4,000 dm{f©H$ doVZ H$s hH$Xma Wr &   

Cn ẁ©º$ g_m`moOZm| H$mo {H$E {~Zm 31 _mM©, 2022 H$mo g_má hþE df© Ho$ bm^  
< 80,000 H$mo gmPoXmam| Ho$ ~rM CZHo$ bm^-{d^mOZ AZwnmV 3 : 3 : 2 _| ~m±Q> 

{X`m J`m &  

Cn ẁ©º$ MyH$ H$m gwYma H$aZo Ho$ {bE \$_© H$s nwñVH$m| _| Amdí`H$ amoµOZm_Mm 

à{dpîQ> H$s{OE & AnZr H$m`© {Q>ßn{U`m| H$mo ñnîQ> ê$n go Xem©BE &  3 

19. (H$) 1 Aà¡b, 2021 H$mo {hVof {b{_Q>oS> Zo àm§Ob {b{_Q>oS> H$s < 8,00,000 H$s 

n[ag§n{Îm`m± VWm < 40,000 H$s Xo`VmAm| H$m A{YJ«hU < 8,30,000 Ho$  

H«$` _yë` na {H$`m & {hVof {b{_Q>oS> Zo àm§Ob {b{_Q>oS> H$mo ŵJVmZ {ZåZ àH$ma go 

{H$`m : 

(i) < 2,00,000 H$s EH$ ñdrH¥${V XoH$a Omo VrZ _mh níMmV² Xò  Wr, VWm$  

(ii) àm§Ob {b{_Q>oS> H$mo eof H«$` _yë` H$m ŵJVmZ < 100 àË òH$ Ho$ 10% 

G$UnÌm| H$mo 10% ~Åo na {ZJ©{_V H$aHo$ {H$`m J`m & 

Cn ẁ©º$ boZXoZm| H$m {hVof {b{_Q>oS> H$s nwñVH$m| _| boIm H$aZo Ho$ {bE Amdí`H$ 
amoµOZm_Mm à{dpîQ>`m± H$s{OE &  3 

 AWdm 

(I) {Xem {b{_Q>oS> Zo < 100  àË òH$ Ho$ 500 A§em| H$mo {OÝh| 10% àr{_`_ na 

{ZJ©{_V {H$`m J`m Wm VWm {OZ na < 90 à{V A§e _m±Jo JE Wo, < 30 à{V A§e 

Am~§Q>Z (àr{_`_ g{hV) VWm < 20 à{V A§e àW_ `mMZm H$m ŵJVmZ Z H$aZo na 

haU H$a {b`m & BZ_| go 300 A§em| H$mo < 80 à{V A§e nyU© àXÎm nwZ:{ZJ©{_V H$a 

{X`m J`m & 

 A§emo§ Ho$ haU VWm nwZ:{ZJ©_Z H$s Amdí`H$ amoµOZm_Mm à{dpîQ>`m± H$s{OE & 3 
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(b) Ananya, Bhavi and Chandni were partners in a firm with capitals 

of < 3,00,000, < 2,00,000 and < 1,00,000 respectively.  

 According to the provisions of the partnership deed :   

(i) Ananya and Chandni were each entitled to a monthly salary 

of < 1,500.   

(ii) Bhavi was entitled to a salary of < 4,000 per annum.  

The profit for the year ended 31st March, 2022, < 80,000 was 

divided between the partners in their profit sharing ratio of 3 : 3 : 2 

without providing for the above adjustments. 

Pass the necessary adjustment entry to rectify the above omissions 

in the books of the firm. Show your working notes clearly.  3 

19. (a) On 1st April, 2021, Hitesh Ltd. took over assets of < 8,00,000 and 

liabilities of < 40,000 of Pranjal Ltd. at an agreed value of  

< 8,30,000. Hitesh Ltd. paid the amount to Pranjal Ltd. as  

follows : 

(i) Gave an acceptance payable after 3 months for < 2,00,000, 
and    

(ii) Issued 10% Debentures of < 100 each at a discount of 10% 
to Pranjal Ltd. in satisfaction of the balance amount of  
purchase consideration.  

Pass the necessary journal entries to record the above transaction 

in the books of Hitesh Ltd.   3 

  OR 

(b) Disha Ltd. forfeited 500 shares of < 100 each issued at 10% 

premium, < 90 called up, on which the shareholders did not pay  

< 30 per share on allotment (including premium) and first call of 

< 20 per share. Out of these, 300 shares were reissued for < 80 

per share, fully paid up.  

 Pass necessary journal entries for forfeiture and reissue of shares.  3 
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20. H$, I VWm J EH$ \$_© Ho$ gmPoXma Wo VWm bm^-hm{Z ~am~a-~am~a ~m±Q>Vo Wo & CZH$s 

ñWm`r ny±Or H«$_e: < 10,00,000, < 9,00,000 VWm < 8,00,000  Wt & gmPoXmar g§boI 

_| {ZåZ H$m àmdYmZ Wm : 

(1) ny±Or na 9% dm{f©H$ Xa go ã`mO &  

(2) AmhaU na 12% dm{f©H$ Xa go ã`mO &  

(3) gmPoXma Ûmam \$_© H$mo {XE JE G$U na 10% dm{f©H$ Xa go ã`mO &$  

df© Ho$ Xm¡amZ I Zo AnZo ì`{º$JV Cn`moJ Ho$ {bE < 20,000 H$m AmhaU {H$`m & 

30.09.2021 H$mo H$ Zo \$_© H$mo < 70,000 H$m G$U {X`m &  

31 _mM©, 2022 H$mo g_má hþE df© Ho$ {bE \$_© H$s nwñVH$m| _| {ZåZ{b{IV Ho$ {bE 

Amdí`H$ amoµOZm_Mm à{dpîQ>`m± H$s{OE : 

(i) J H$s ny±Or na ã`mO àXmZ H$aZo Ho$ {bE &  

(ii) H$ Ho$ G$U na ã`mO àXmZ H$aZo Ho$ {bE &  

(iii) I Ho$ AmhaU na ã`mO à^m[aV H$aZo Ho$ {bE & 

gmW hr O¡gr ^r pñW{V hmo bm^-hm{Z ImVo/bm^-hm{Z g_m`moOZ ImVo _| hñVmÝVaU 

à{dpîQ>`m± ^r H$s{OE & 3 

21. àH$me, AmH$me VWm {dH$mg EH$ ì`dgm` Ho$ gmPoXma Wo VWm 2 : 2 : 1 Ho$ AZwnmV _| 
bm^m| H$mo ~m±Q>Vo Wo &  31 _mM©, 2022 H$mo CZH$m pñW{V {ddaU {ZåZ àH$ma Wm : 

31 _mM©, 2022 H$mo àH$me, AmH$me VWm {dH$mg H$m pñW{V {ddaU 

Xò VmE± 
am{e  
< 

n[agån{Îm`m± 
am{e  
< 

boZXma 2,00,000 ~¢H$ 40,000 

gm_mÝ` g§M` 1,00,000 ñQ>m°H$ 60,000 

ny±Or :  XoZXma 1,60,000 
àH$me$          1,20,000  {Zdoe 1,40,000 

AmH$me$         2,00,000  \$ZuMa 70,000 
  {dH$mg$            80,000 4,00,000 ^dZ 2,30,000 

 7,00,000  7,00,000 
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20. A, B and C were partners in a firm sharing profits and losses equally. 
Their respective capitals were < 10,00,000, < 9,00,000 and < 8,00,000. 

The partnership deed provided for the following :   

(1) Interest on capital @ 9% per annum.     

(2) Interest on drawings @ 12% per annum.   

(3) Interest on partners loan to the firm @ 10% per annum. 

During the year, B had withdrawn < 20,000 for his personal use.  
On 30.9.2021, A had given a loan of < 70,000 to the firm.    

Pass the necessary journal entries in the books of the firm for the 
following for the year ended 31st  March, 2022 : 

(i) Allowing .      

(ii) Providing  

(iii) Charging  

Also give transfer entries in the Profit and Loss Account/Profit and Loss 
Appropriation Account, as the case may be.  3 

21. Prakash, Aakash and Vikas were partners in a business sharing profits 
in the ratio of 2 : 2 : 1. Their Balance Sheet as at 31st March, 2022 was as 
follows: 

Balance Sheet of Prakash, Aakash and Vikas as at 31st March, 2022 

Liabilities 
Amount  

< Assets 
Amount  

< 

Creditors 2,00,000 Bank     40,000 
General Reserve  1,00,000 Stock     60,000 
  Debtors  1,60,000 
Capitals :  Investments 1,40,000 
Prakash            1,20,000     Furniture     70,000 
Aakash              2,00,000  Building  2,30,000 
Vikas                    80,000 4,00,000   
  7,00,000  7,00,000 
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 30 {gVå~a, 2022 H$mo {dH$mg H$s _¥Ë ẁ hmo JB© & EH$ gmPoXma H$s _¥Ë ẁ na gmPoXmar g§boI 

_| {ZåZ H$m àmdYmZ Wm : 

(i) _¥Ë ẁ H$s {V{W VH$ _¥VH$ gmPoXma H$mo bm^ _| CgH$m ^mJ {OgH$s JUZm, {nN>bo 
df© Ho$ bm^ Ho$ AmYma na H$s OmEJr & 

(ii) \$_© H$s »`m{V _| CgH$m ^mJ {OgH$s JUZm {nN>bo Mma dfm] Ho$ Am¡gV bm^ Ho$ 
VrZ dfm] Ho$ H«$` Ho$ AmYma na H$s OmEJr &  

 31 _mM© H$mo g_má {nN>bo Mma dfmªo Ho$ bm^ {ZåZ àH$ma Wo : 
 2018  19, < 1,60,000; 2019  20, < 1,00,000; 2020  21, < 80,000 

VWm 2021  22, < 60,000. 

(iii) _¥Ë ẁ H$s {V{W VH$ _¥VH$ gmPoXma H$m AmhaU < 20,000  Wm & 

(iv) ny±Or na ã`mO 12% dm{f©H$ Xa go {X`m OmEJm &  
{dH$mg Ho$ CÎmam{YH$m[a`m| H$mo àñVwV H$aZo Ho$ {bE {dH$mg H$m n±yOr ImVm V¡̀ ma H$s{OE & 4 

22. gZñQ>ma {b{_Q>oS> H$s < 10 àË òH$ Ho$ g_Vm A§em| _| {d^º$ < 20,00,000 H$s A{YH¥$V 

ny±Or Wr & H§$nZr Zo 60,000 A§em| Ho$ {ZJ©_Z Ho$ {bE AmdoXZ Am_§{ÌV {H$E &  

58,000 A§em| Ho$ {bE AmdoXZ nÌ àmá hþE &  

 g^r `mMZmE± _m±J br JBª VWm 2,000 A§em| na < 3 à{V A§e H$s ApÝV_ `mMZm H$mo 

 JBª & BZ A§em| H$m haU H$a {b`m J`m & 

 H§$nZr A{Y{Z`_, 2013 H$s AZwgyMr III, ^mJ I Ho$ AZwgma "A§e ny±Or' H$mo H§$nZr Ho$ 

pñW{V {ddaU _| Xem©BE & Bgr Ho$ {bE "ImVm| Ho$ ZmoQ²g' ^r V¡̀ ma H$s{OE & 4 

23. {ZåZ{b{IV pñW{V`m| _| KZí`m_ {b{_Q>oS> H$s nwñVH$m| _| 12% G$UnÌm| Ho$ {ZJ©_Z H$s 

Amdí`H$ amoµOZm_Mm à{dpîQ>`m± H$s{OE : 6 

(i) < 100 àË òH$ Ho$ 1,000 12% G$UnÌm| H$m {ZJ©_Z 10% àr{_`_ na {H$`m 

{OZH$m emoYZ 5% àr{_`_ na {H$`m OmZm h¡ & 

(ii) < 100 àË òH$ Ho$ 5,000 12% G$UnÌm| H$m {ZJ©_Z 10% àr{_`_ na {H$`m 

{OZH$m emoYZ g__yë` na {H$`m OmZm h¡ & 

(iii) < 100 àË òH$ Ho$ 2,000, 12% G$UnÌm| H$m {ZJ©_Z 10% Ny>Q> na {H$`m {OZH$m 

emoYZ 5% àr{_`_ na {H$`m OmZm h¡ & 
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 Vikas died on 30th September, 2022. On the death of a partner the 
partnership deed provided for the following : 

 (i) Deceased partner will be entitled to his share of profit up to the 
 

 (ii) His share in the Goodwill of the firm, calculated on the basis of  
3 years purchase of average profits of last four years. Profits for 
last four years ended 31st March were as follows :  

 2018  19, < 1,60,000; 2019  20, < 1,00,000; 2020  21, < 80,000 
and 2021  22, < 60,000. 

(iii) Drawings of the deceased partner up to the date of death were  
< 20,000.   

(iv) Interest on capital was allowed @ 12% per annum.  

 4 

22. Sunstar Ltd. has an authorised capital of < 20,00,000 divided into equity 
shares of < 10 each. The company invited applications for issuing 60,000 
shares. Applications were received for 58,000 shares.  

 All calls were made and were duly received except the final call of < 3 
per share on 2,000 shares. These shares were forfeited. 

 the Company as per 
Schedule III, 

 4 

23. Pass necessary journal entries for issue of 12% debentures in the books of 
Ghanshyam Ltd. in the following cases :  6 

(i) Issued 1,000, 12% debentures of < 100 each at a premium of 10%, 
redeemable at a premium of 5%.   

(ii) Issued 5,000, 12% debentures of < 100 each at a premium of 10%, 
redeemable at par.  

(iii) Issued 2,000, 12% debentures of < 100 each at a discount of 10%, 
redeemable at a premium of 5%. 
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24. EH$ \ VWm ~mø Xò VmAm| H$mo 
dgybr ImVo _| hñVmÝVaU Ho$ níMmV² {ZåZ{b{IV boZXoZm| Ho$ {bE Amdí`H$ amoµOZm_Mm 
à{dpîQ>`m± H$s{OE : 6 

(i) déU Zo < 20,000 Ho$ boZXmam| Ho$ Xmdo Ho$ nyU© {ZnQ>mZ _| CÝh| < 18,500  H$m 
ŵJVmZ {H$`m & 

(ii) {ddoH$ Zo AnZr nËZr Ho$ < 70,000  Ho$ G$U Ho$ ŵJVmZ H$s gh_{V Xr &   
(iii) \$_© Ho$ nmg < 2,00,000 Ho$ A{b{IV {Zdoe Wo {OZH$m boIm Zht {H$`m J`m Wm, 

{OÝh| 20% H$s hm{Z na ~oM {X`m J`m & 
(iv) \$_© Ho$ nmg < 1,00,000 H$m ñQ>m°H$ Wm & déU Zo ñQ>m°H$ H$mo 10% Ny>Q> na bo 

{b`m & 
(v) ar_m Zo, Omo EH$ XoZXma Wr VWm {OgH$m ImVm {nN>bo df© < 2,000 go Sy>~V G$U 

Ho$ ê$n _| An{b{IV H$a {X`m J`m Wm, am{e Ho$ 70% H$m ŵJVmZ H$a {X`m & 
(vi) < 4,900 Ho$ dgybr ì``m| H$m ŵJVmZ EH$ gmPoXma {ddoH$ Ûmam {H$`m J`m & 

25. (H$) ^y{_ VWm N>{d EH$ \$_© H$s gmPoXma Wt VWm 5 : 3 Ho$ AZwnmV _| bm^-hm{Z ~m±Q>Vr 
Wt & 1 Aà¡b, 2022 H$mo CÝhm|Zo A{X{V H$mo EH$ gmPoXma ~Zm`m & Cg {V{W H$mo 
CZH$m pñW{V {ddaU {ZåZ àH$ma Wm :  

1 Aà¡b, 2022 H$mo ŷ{_ VWm N>{d H$m pñW{V {ddaU 

Xò VmE± am{e  
< 

n[agån{Îm`m±     am{e  
     < 

ny±Or :  _erZar 3,80,000 

  ^y{_        3,20,000  \$ZuMa 50,000 
  N>{d        3,40,000 6,60,000 XoZXma 2,30,000 
gm_mÝ` g§M` 80,000 ñQ>m°H$ 1,50,000 
~¢H$ G$U 60,000 amo    50,000 

boZXma  60,000   

 8,60,000  8,60,000 

A{X{V H$mo {ZåZ{b{IV eVm] na bm^m| _| 
3
1  ^mJ Ho$ {bE \$_© _| àdoe {X`m J`m : 

(i) A{X{V < 3,00,000 AnZr ny±Or Ho$ ê$n _| bmEJr & 

(ii) A{X{V »`m{V àr{_`_ H$m AnZm ^mJ ZJX bmEJr & \$_© H$s »`m{V H$m 
_yë`m§H$Z {nN>bo VrZ dfm] Ho$ Am¡gV bm^ Ho$ Xmo dfm] Ho$ H«$` Ho$ AmYma na 
{H$`m J`m & {nN>bo VrZ dfm] H$m Am¡gV bm^ < 60,000 Wm & 
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24. Pass the necessary journal entries for the following transactions on 
dissolution of the firm of Varun and Vivek after various assets (other than 
cash) and outside liabilities were transferred to Realisation Account : 6 
(i) Varun paid creditors < 18,500 in full settlement of their claim of  

< 20,000.    
(ii) of < 70,000.   
(iii) The firm had unrecorded investments of < 2,00,000, which were 

sold at a loss of 20%. 
(iv) The firm had stock of < 1,00,000. Varun took over the stock at a 

discount of 10%.     
(v) Reema, a debtor whose account for < 2,000 was written off as a 

bad debt in the previous year, paid 70% of the amount.    
(vi) Expenses of realisation < 4,900 were paid by partner, Vivek.   

25. (a) Bhumi and Chavi were partners in a firm sharing profits and 
losses in the ratio of 5 : 3. They admitted Aditi in the firm on  
1st April, 2022. On that date their Balance Sheet was as follows :  

Balance Sheet of Bhumi and Chavi as at 1st April, 2022 

Liabilities 
Amount  

< Assets 
Amount  

< 

Capitals :  Machinery   3,80,000 
   Bhumi         3,20,000  Furniture 50,000 
  Chavi           3,40,000 6,60,000 Debtors 2,30,000 

General Reserve 80,000 Stock 1,50,000 
Bank loan 60,000 Cash 50,000 
Creditors  60,000   
    
 8,60,000  8,60,000 

 Aditi was admitted in the firm with 
3
1

 share in profits on the 

following terms :   

(i) Aditi will bring < 3,00,000 as her capital.  

(ii) Aditi will bring her share of goodwill premium in cash. 
Goodwill of the firm was valued on the basis of two years 
purchase of average profits of the last three years. Average 
profits of the last three years were < 60,000.   
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(iii) _erZar H$m nwZ_©yë`m§H$Z < 4,60,000  {H$`m J`m & 

(iv) ŷ{_ VWm N>{d H$s ny±Or H$m g_m`moOZ Mmby ImVo ImobH$a A{X{V H$s ny±Or 
Ho$ AmYma na {H$`m J`m &  

nwZ_©yë`m§H$Z ImVm VWm gmPoXmam| Ho$ ny±Or ImVo V¡`ma H$s{OE & 6

 AWdm 

(I) EZm, ~rZm VWm Q>rZm gmPoXma Wt VWm 5 : 3 : 2 Ho$ AZwnmV _§o bm^-hm{Z ~m±Q>Vr  

Wt & 31 _mM©, 2022 H$mo CZH$m pñW{V {ddaU {ZåZ àH$ma Wm : 

31 _mM©, 2022 H$mo EZm, ~rZm VWm Q>rZm H$m pñW{V {ddaU 

Xò VmE± 
am{e  
< n[agån{Îm`m± 

    am{e  
     < 

boZXma 66,000 \$ZuMa 1,12,000 

Xò  {~b 59,000 ñQ>m°H$ 1,77,000 
  XoZXma          2,80,000  
ny±Or : 

 
KQ>m g§{X½Y G$Um|  
Ho$ {bE àmdYmZ    7,000 2,73,000 EZm     2,00,000 

  ~rZm    2,00,000   63,000 
  Q>rZm    1,00,000 5,00,000   

 6,25,000  6,25,000 

Cn ẁ©º$ {V{W H$mo EZm {ZåZ{b{IV eVm] na godm{Zd¥Îm hmo J`r : 

(i) \$_© H$s »`m{V H$m _yë`m§H$Z < 60,000 {H$`m J`m VWm EZm Ho$ »`m{V Ho$ 
^mJ H$mo eof gmPoXmam| Ho$ ny±Or ImVm| Ho$ _mÜ`_ go g_m`mo{OV H$a {X`m  
J`m & 

(ii) \$ZuMa na < 10,000 _yë`õmg bJm`m J`m &  

(iii) EZm H$mo ~rZm VWm Q>rZm Ûmam bmE JE 
àH$ma {H$`m OmZm h¡ {H$ CZH$s n±yOr CZHo$ ZE bm^ {d^mOZ AZwnmV 1 : 1 
_| hmo OmE & 

nwZ_©yë`m§H$Z ImVm VWm gmPoXmam| Ho$ ny±Or ImVo V¡`ma H$s{OE & 6 
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(iii) Machinery was revalued at < 4,60,000.    

(iv) The capitals of Bhumi and Chavi were adjusted on the basis 
current accounts.  

Prepare Revaluation Account and Partners  Capital Accounts. 6 

  OR 

(b) Anna, Bina and Teena  were partners sharing profits and losses in 
the ratio of 5 : 3 : 2. Their Balance Sheet on  31st March, 2022 was 
as follows :  

Balance Sheet of Anna, Bina and Teena  as at 31st March, 2022 

Liabilities 
Amount  

< Assets 
Amount  

< 

Creditors 66,000 Furniture   1,12,000 
Bills Payable 59,000 Stock  1,77,000 
  Debtors           2,80,000  
  Capitals : 

 
Less  provision for 
bad debts             7,000 2,73,000     Anna          2,00,000 

    Bina           2,00,000  Cash 63,000 

    Teena         1,00,000 5,00,000   
 6,25,000  6,25,000 

 On the above date, Anna retired on the following terms : 

(i) Goodwill of the firm was valued at < 

goodwill was adjusted through the capital accounts of remaining 

partners.    

(ii) Furniture was depreciated by < 10,000. 

(iii) Anna was to be paid through cash brought in by Bina and Teena in 

such a way as to make their capitals proportionate to their new 

profit sharing ratio of 1 : 1.  

Prepare Revaluation and Partners  Capital Accounts.  6 
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26. (H$) `e {b{_Q>oS> Zo < 10 àË òH$ Ho$ 50,000 g_Vm A§em| H$mo 10%$ àr{_`_ na 
{ZJ©{_V H$aZo Ho$ {bE AmdoXZ Am_§{ÌV {H$E & am{e H$m ŵJVmZ {ZåZ àH$ma go Xo` 
Wm : 

  AmdoXZ na < 3 à{V A§e; Am~§Q>Z na (àr{_`_ g{hV) < 3 à{V A§e VWm àW_ 
Ed§ ApÝV_ `mMZm na eof am{e &  

  1,20,000 A§em| Ho$ {bE AmdoXZ àmá hþE & A§em| H$m Am~§Q>Z AmZwnm{VH$ AmYma 
na g^r AmdoXH$m| H$mo H$a {X`m J`m & AmdoXZ na àmá A{V[aº$ am{e H$m 
g_m`moOZ Am~§Q>Z na Xò  am{e _| H$a {X`m J`m & Am~§Q>Z na Xo` AmdoXZ am{e go 
A{YH$ am{e dmng H$a Xr JB© & EH$ A§eYmaH$ {OgZo 6,000 A§em| Ho$ {bE 
AmdoXZ {H$`m Wm, àW_ Ed§ ApÝV_ `mMZm am{e H$m ŵJVmZ Zht H$a gH$m VWm 
CgHo$ A§em| H$m haU H$a {b`m J`m & haU {H$E JE A§em| H$mo < 60,000 nyU© 
àXÎm nwZ:{ZJ©{_V H$a {X`m J`m &  

  Cn ẁ©º$ boZXoZm| Ho$ {bE `e {b{_Q>oS> H$s nwñVH$m| _| Amdí`H$ amoµOZm_Mm à{dpîQ>`m± 
H$s{OE & 6 

 AWdm 
(I) AO§Vm {b{_Q>oS> Zo < 10  àË òH$ Ho$ 5,00,000 g_Vm A§em| H$mo 10% àr{_`_ na 

{ZJ©{_V H$aZo Ho$ {bE EH$ gyMrnÌ Omar {H$`m & am{e H$m ^wJVmZ {ZåZ àH$ma go 
Xò  Wm : 

 AmdoXZ na < 3 à{V A§e, Am~§Q>Z na (àr{_`_ g{hV) < 5 à{V A§e VWm àW_ 
Ed§ ApÝV_ `mMZm na < 3 à{V A§e &  

 6,00,000 A§em| Ho$ {bE AmdoXZ àmá hþE VWm g^r AmdoXH$m| H$mo AmZwnm{VH$ 
AmYma na Am~§Q>Z H$a {X`m J`m & AmdoXZ na àmá A{V[aº$ YZam{e H$m 
g_m`moOZ Am~§Q>Z na Xo` am{e _| H$a {X`m J`m & g^r Xo` am{e àmá hmo JB©, 
Ho$db gw{_V Ho$ A{V[aº$, Omo 1,000 A§em| H$m YmaH$ Wm, VWm Am~§Q>Z d àW_ 
Ed§ A§{V_ `mMZm H$m ^wJVmZ H$aZo _| Ag\$b ahm & CgHo$ A§em| H$m haU H$a 
{b`m J`m & 

 AO§Vm {b{_Q>oS> H$s nwñVH$m| _| Cn ẁ©º$ boZXoZm| Ho$ {bE Amdí`H$ amoµOZm_Mm 
à{dpîQ>`m± H$s{OE & Ohm± Amdí`H$ hmo AXÎm `mMZm ImVm Imo{bE & 6 

^mJ I 
{dH$ën - I 

({dÎmr` {ddaUm| H$m {díbofU) 

27. (i) `{X Mmby df© _| àMmbZ go AmJ_ < 10,00,000 h¡ VWm gH$b bm^, bmJV na 
25% h¡, Vmo àMmbZ go AmJ_ H$s bmJV hmoJr : 1 
(a) < 2,50,000 (b) < 12,50,000 
(c) < 2,00,000 (d) < 8,50,000 

 AWdm 
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26. (a) Yash Ltd. invited applications for 50,000 equity shares of <10 each 
at a premium of 10%. The amount was payable as follows : 

  On application < 3 per share; on allotment (including premium)  
< 3 per share and on first and final call, the balance amount.   

  Applications were received for 1,20,000 shares and shares were 
allotted on pro-rata basis to all applicants. The excess money 
received on application was to be adjusted towards sums due on 
allotment. Application money in excess of sums due on allotment 
was refunded. A shareholder who applied for 6,000 shares could 
not pay the first and final call money and his shares were forfeited. 
The forfeited shares were reissued for < 60,000 fully paid up.  

  Pass necessary journal entries for the above transactions in the 
books of Yash Ltd. 6 

  OR 
(b) Ajanta Ltd. issued a prospectus inviting applications for issuing 

5,00,000 equity shares of < 10 each issued at a premium of 10%. 
The amount was payable as follows : 

 On application  < 3 per share 
 On allotment (including premium)  < 5 per share 
 On first and final call  < 3 per share   
 Applications were received for 6,00,000 shares and pro-rata 

allotment was made to all applicants. Excess money received on 
application was adjusted towards sums due on allotment. All 
amounts were duly received except from Sumit, who was the 
holder of 1,000 shares, and failed to pay the allotment and first 
and final call. His shares were forfeited.  

 Pass journal entries for the above transactions in the books of 
Ajanta Ltd. Open calls-in-arrears account wherever necessary. 6  

 
PART B 

OPTION  I 
(Analysis of Financial Statements) 

27. (i) If revenue from operations is < 10,00,000 and gross profit is 25% 
on cost, cost of revenue from operations will be :  1 
(a) < 2,50,000 (b) < 12,50,000  
(c) < 2,00,000 (d) < 8,50,000 

  OR 
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(ii) `{X A_Z {b{_Q>oS> H$m àMmbZ AZwnmV 60% h¡, Vmo BgH$m àMmbZ bm^ AZwnmV 
hmoJm :  1 

(a) 100% 

(b) 60% 

(c) 40% 

(d) 160% 

28. àmá ã`mO  H$mo dJuH¥$V {H$`m 
OmEJm : 1 

(a) {dÎmr` J{V{d{Y Ho$ ê$n _|  

(b) àMmbZ J{V{d{Y Ho$ ê$n _|  

(c) {Zdoe J{V{d{Y Ho$ ê$n _|  

(d)  

29. (i) ? 1 

(a) ~¢H$ go < 50,000 H$m ZJX AmhaU  

(b) _erZar Ho$ Amny{V©H$Vm©Am| H$mo < 2,00,000, 9% G$UnÌm| H$m {ZJ©_Z  
(c) XoZXmamo§ go < 30,000 H$s àm{á 

(d) ~¢H$ _| < 20,000  Ho$ M¡H$ O_m {H$E  

 AWdm 

(ii) -Vwë` _mZm OmVm h¡ Ho$db V^r O~ BgH$s 
emoYZ Ad{Y H$_ hmo, AJa H$h|, Vmo A{YJ«hU H$s {V{W go ____________ & 1 

(a) VrZ _hrZo AWdm A{YH$   

(b) N>: _hrZo AWdm H$_   

(c) EH$ df© AWdm H$_   

(d) VrZ _hrZo AWdm H$_  

30. {ZåZ{b{IV _| go H$m¡Z-gm emoYZ-j_Vm AZwnmV h¡ ? 1 

(a) {Zdoe na àË`m`   

(b) ã`mO ì`m{á AZwnmV  

(c) ñdm{_Ëd AZwnmV  

(d) Hw$b n[agån{Îm`m| na G$U AZwnmV  
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(ii) If the operating ratio of Aman Ltd. is 60%, its operating profit ratio 
will be : 1 

(a) 100% 

(b) 60% 

(c) 40%  

(d) 160%   

28. 
company is classified as : 1 

(a) Financing activity  

(b) Operating activity  

(c) Investing activity  

(d) Cash and cash equivalents 

29. (i) Which of the following will result in flow of cash ? 1 

(a) Cash withdrawn from the bank < 50,000 

(b) < 2,00,000, 9% debentures issued to vendors of machinery  

(c) < 30,000 received from debtors   

(d) Cheques of < 20,000 deposited in the bank 

  OR 
(ii) An investment normally qualifies as cash equivalent only when it 

has a short maturity, of say, ________ from the date of acquisition. 1 

(a) Three months or more   

(b) Six months or less  

(c) One year or less    

(d) Three months or less  

30. Which of the following is not a Solvency Ratio ? 1 

(a) Return on Investment  

(b) Interest Coverage Ratio 

(c) Proprietary Ratio   

(d) Total Assets to Debt Ratio   
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31. {ZåZ{b{IV _Xm| H$mo H§$nZr A{Y{Z`_, 2013 H$s AZwgyMr III, ^mJ I Ho$ AZwgma H§$nZr 

Ho$ pñW{V {ddaU Ho$ _w»` erf©H$m| VWm Cn-erf©H$m| (`{X H$moB© hmo) _| dJuH¥$V H$s{OE :   3 

(i) EH$ñd   

(ii) ny±OrJV H$m ©̀ àJ{V na   

(iii) ŵJVmZ Z {H$`m J`m bm^m§e 

32. BZ AZwnmVm| H$m n[aH$bZ EH$ ì`dgm` Ho$ àMmbZm| H$s à^m{dH$Vm H$mo _mnZo Ho$ {bE 

{H$`m OmVm h¡ Omo {H$ ì`dgm` _| {Z`mo{OV g§gmYZm| Ho$ à^mdnyU© Cn`moJ na AmYm[aV h¡ &   

(H$) Cn ẁ©º$ _| M{M©V AZwnmVm| Ho$ àH$ma H$mo nhMm{ZE &   

(I) Cn ẁ©º$ (H$) _| nhMmZo JE AZwnmVm| Ho$ àH$ma Ho$ {H$Ýht Xmo AZwnmVm| H$mo g_PmBE & 3

33. (i) (H$) dmB© {b{_Q>oS> H$m Mmby AZwnmV 3·5 : 1 h¡ VWm Vab AZwnmV 2 : 1 h¡ & 
`{X Vab n[agån{Îm`m| na Mmby n[agån{Îm`m| H$s A{YH$Vm {OgH$m 
à{V{Z{YËd ñQ>m°H$ (BÝdoÝQ́>r) H$aVm h¡, < 48,000 h¡, Vmo Mmby n[agån{Îm`m| 
VWm Mmby Xò VmAm| H$s JUZm H$s{OE & 2+2=4 

(I) G$U g_Vm AZwnmV H$s JUZm H$s{OE : 

  A§eYm[a`m| Ho$ H$mof  < 2,00,000 

    < 1,00,000 

  Hw$b G$U  < 4,00,000 

  Mmby Xo`VmE±  < 1,00,000  

 AWdm 

(ii) EH$ H§$nZr H$m Mmby AZwnmV 2 : 1 h¡ & H$m I H$s{OE {H$ {ZåZ{b{IV 

boZ  4 

(H$) < 60,000 Ho$ _mb H$m ZJX H«$`  

(I) < 2,00,000 H$s ñWm`r n[agån{Îm`m| H$m ZJX H«$`  

(J) < 20,000 H$s bmJV Ho$ _mb H$m < 23,000 _| CYma {dH«$`  

(K) < 10,00,000 Ho$ A§em| H$m {ZJ©_Z  



  

67/4/1  JJJJ Page 31 P.T.O.   

31. Classify the following items under major heads and sub-heads (if any) in 
the Balance Sheet of a company as per Schedule III, Part I of the 
Companies Act, 2013 : 3 

(i) Patents    

(ii) Capital work-in-progress  

(iii) Unpaid dividend    

32. 
 

(a) Identify the types of ratios being discussed above.     

(b) Explain any two ratios of the types of ratios identified in (a) above. 3 

33. (i) (a) Y Ltd. has a Current Ratio of 3.5 : 1 and Quick Ratio of  
2 : 1. If excess of current assets over quick assets 
represented by inventory is < 48,000, calculate current 
assets and current liabilities.  2+2=4 

(b) Calculate Debt to Equity Ratio :  

 Shareholder Funds   < 2,00,000 

 Reserves and Surplus  < 1,00,000 

 Total Debt   < 4,00,000 

 Current Liabilities  < 1,00,000   

  OR 

(ii) The Current Ratio of a company is 2 : 1. State giving reasons 
which of the following transactions would improve, reduce or not 
change the ratio :  4 

(a) Purchase of goods for cash < 60,000 

(b) Purchase of fixed assets for cash < 2,00,000 

(c) Sale of goods costing < 20,000 for < 23,000 on credit 

(d) Issue of shares < 10,00,000   
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34.  na {XE JE àíZ H$m CÎma Xr{OE : 
 _mYd EH$ ẁdm CÚ_r h¡ & 1 Aà¡b, 2019 H$mo CgZo AnZo Xmo {_Ìm| _mohZ VWm gmohZ Ho$ 

gmW EH$ gmPoXmar \$_© H$m JR>Z {H$`m & CÝhmo§Zo _odm| Ho$ {Z`m©V H$m AnZm ì`dgm` àmaå^ 
{H$`m & CZH$m ì`dgm` EH$ g\$b ì`dgm` Wm & A~ do ~hþV go AÝ` Xoem| _| ì`dgm` 
H$m {dñVma H$aZm MmhVo Wo & {dÎmr` Amdí`H$VmAm| H$s ny{V© Ho$ {bE CÝhmo§Zo AnZo 
ì`mdgm{`H$ g§JR>Z H$m àH$ma ~XbH$a _mYd {b{_Q>oS> H$m JR>Z {H$`m & 31.3.2022 H$mo 
_mYd {b{_Q>oS> H$m pñW{V {ddaU {ZåZ{b{IV Wm : 

                         31 _mM©, 2022 H$m _mYd {b{_Q>oS> H$m pñW{V {ddaU  

{ddaU 
ZmoQ> 
g§. 

31.3.2022  
< 

31.3.2021  
< 

I  g_Vm VWm Xo`VmE± :    
1. A§eYmaH$$ {Z{Y`m±    
 (H$) A§e ny±Or   35,00,000 25,00,000 

 
(I) g§M` Ed§ A{Ybm^ 
     (bm^-hm{Z {ddaU) 

 12,50,000 10,00,000 

2. AMb Xo`VmE±±    

 XrK©H$mbrZ CYma 
(10% G$UnÌ) 

 12,50,000 3,50,000 

3. Mmby Xò VmE±    

 (H$)bKwH$mbrZ CYma  
    (~¢H$ A{Y{dH$f©) 

 50,000 75,000 

 (I) ì`mnm[aH$ Xò     2,50,000 1,50,000 
 (J) bKwH$mbrZ àmdYmZ  1 1,50,000 75,000 

                              Hw$b  64,50,000 41,50,000 

II  n[agån{Îm`m± :    
1. AMb n[agån{Îm`m±    

 ñWm`r n[agån{Îm`m±    

 (H$) _yV© n[agån{Îm`m± 2 40,00,000 22,50,000 

 
(I) A_yV© n[agån{Îm`m± 
     (»`m{V) 

 3,50,000 5,00,000 

2. Mmby n[agån{Îm`m±    
 (H$) BÝdoÝQ́>r (_mbgyMr)   6,25,000 5,00,000 
 (I) ì`mnm[aH$ àmß`  12,50,000 7,50,000 
 (J)   2,25,000 1,50,000 
                                Hw$b  64,50,000 41,50,000 
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34. Read the following hypothetical text and answer the given question on 
this basis :  

 Madhav is a young entrepreneur. On 1st April, 2019, he formed a 
partnership firm with two of his friends, Mohan and Sohan. They started 
their business of exporting dry fruits. Their business was a successful 
business. Now they wanted to expand the business in many other 
countries. For meeting the financial requirements, they changed the form 
of business organisation and formed Madhav Ltd. The Balance Sheet of 
Madhav Ltd. as at 31.3.2022 was as follows : 

Balance Sheet of Madhav Ltd. as at 31st March, 2022 

Particulars 
Note 
No. 

31.3.2022  
< 

31.3.2021  
< 

I  Equity and Liabilities :    
1.     
 (a) Share Capital   35,00,000 25,00,000 

 (b) Reserves and Surplus   
     (Statement of P & L)   12,50,000 10,00,000 

2. Non-Current Liabilities    

 
Long-term Borrowings  
(10% Debentures) 

 12,50,000 3,50,000 

3. Current Liabilities    

 (a) Short-term Borrowings 
     (Bank Overdraft)  50,000 75,000 

 (b) Trade Payables  2,50,000 1,50,000 
 (c) Short-term Provisions 1 1,50,000 75,000 

                                     Total  64,50,000 41,50,000 
II  Assets :    
1. Non-Current Assets     
 Fixed Assets     
 (a) Tangible Assets 2 40,00,000 22,50,000 

 
(b) Intangible Assets                
                (Goodwill)  3,50,000 5,00,000 

2. Current Assets    
 (a) Inventories  6,25,000 5,00,000 
 (b) Trade Receivables   12,50,000 7,50,000 

 (c) Cash and Cash      
     Equivalents  2,25,000 1,50,000 

                                  Total  64,50,000 41,50,000 
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 ImVm| Ho$ ZmoQ²>g : 

ZmoQ> 
g§. 

{ddaU 
31.3.2022 

am{e 
< 

31.3.2021 
am{e 
< 

1 bKwH$mbrZ àmdYmZ    

 H$a àmdYmZ 1,50,000 75,000 

2 _yV© n[agån{Îm`m±   

 g§ §̀Ì Ed§ _erZar   44,00,000 25,00,000 

 KQ>m EH${ÌV _yë`õmg  (4,00,000) (2,50,000) 

  40,00,000 22,50,000 

   

(i) df© Ho$ Xm¡amZ < 1,25,000 bmJV H$s EH$ _erZar {Og na EH${ÌV _yë`õmg  

< 50,000 Wm, H$m {dH«$` < 45,000  _| {H$`m J`m & 

(ii) G$UnÌm| na < 1,25,000 ã`mO H$m ŵJVmZ {H$`m J`m &

Cn ẁ©º$ Xr JB© gyMZm Ho$ AmYma na _mYd {b{_Q>oS> H$s {Zdoe J{V{d{Y`m|  VWm {dÎmr` 

J{V{d{Y`m|    6 

^mJ I 

{dH$ën - II 

(A{^H${bÌ boIm§H$Z) 

27. (i) Hy$Q>~Õ H$aZm (H$mo{S>\$sHo$eZ) H$s Amdí`H$Vm h¡ : 1 

(a) Zo_m°{ZH$ H$moS> ~ZmZo Ho$ {bE  

(b) S>oQ>m E§{H«$ßeZ Ho$ {bE  

(c) ImVo, à{VdoXZ, BË`m{X gwa{jV H$aZo Ho$ {bE  

(d) S>oQ>m H$m gab à{H«$`U VWm boIm| Ho$ ghr aIaImd Ho$ {bE  

 AWdm 
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Notes to Accounts : 
Note 
No.  Particulars  

31.3.2022 
Amount  

< 

31.3.2021 
Amount  

< 
1 Short term Provisions 

Provision for Tax 1,50,000 75,000 
2 Tangible Assets    

 Plant and Machinery  44,00,000 25,00,000 
 Less Accumulated Depreciation (4,00,000) (2,50,000) 
  40,00,000 22,50,000 

Additional Information : 

(i) A part of the machine costing < 1,25,000 accumulated depreciation 

thereon being < 50,000 was sold for <45,000 during the year.    

(ii) Interest of < 1,25,000 was paid on Debentures.  

Calculate cash flows from nvesting and inancing activities  

of Madhav Ltd. from the information provided above.  6    
 
 

PART B 
OPTION  II 

(Computerised Accounting ) 

27. (i) The need of codification is for : 1 

(a) Generation of mnemonic codes.  

(b) The encryption of data  

(c) Securing the accounts, reports, etc. 

(d) Easy processing of data and keeping proper records 

 

  OR 
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(ii) boIm nwñVH$m| _| CYma H«$` Ho$ {bE J«mhH$m| Ûmam Xo` am{e H$hm± na hmoVr h¡ ? 1 

(a) àmß` ImVo amoµOZm_Mm  

(b) OZab (gm_mÝ`) ImVm~hr  

(c) àmß` ImVo Cn-ImVm~hr   

(d) {dH«$` amoµOZm_Mm   

28. nmB© MmQ>© Ho$ dJ© __________ go A{YH$ Zht hmoVo h¢ & 1 

(a) VrZ  

(b) ~rg  

(c) ~mah 

(d) gmV  

29. {ZåZ{b{IV _| go H$m¡Z-gm H$WZ H$åß`yQ´>rH¥$V boIm§H$Z V§Ì H$s EH$ gr_m  h¡ ? 1 

(a)  

(b) e{º$ ì`dYmZm| Ho$ H$maU S>oQ>m Jw_ AWdm Xÿ{fV hmo gH$Vm h¡ &  

(c) S>oQ>m _| h¡H$ hmoZo H$s àd¥{Îm hmoVr h¡ &   

(d) àmoJ«m_ Z H$s JB© VWm A{d{eîQ> à{VdoXZ Zht ~ZmE Om gH$Vo h¢ &  

30. (i) n[agån{Îm`m| H$s gwajm VWm g§gmYZm| Ho$ gdm}Îm_ Cn`moJ Ho$ {bE ì`dgm` : 1 

(a) Ho$db A{YH$V_ AmJ_ A{O©V H$aZo H$s MoîQ>m H$aVm h¡ & 

(b) AmÝV[aH$ {Z`ÝÌU aIVm h¡ &  

(c) Ho$db ghr boIm§H$Z boIm aIZo H$mo gw{ZpíMV H$aVm h¡ &   

(d) Ho$db n[agån{Îm`m| H$mo gwa{jV aIVm h¡ &  

 AWdm 

(ii) ghr ##### Aew{Õ àX{e©V hmoVr h¡ : 1 

(a) O~ {H$gr g§»`m H$mo eyÝ` go ^mJ {H$`m OmVm h¡ & 

(b) O~ _yë` CnbãY Zht hmoVm &  

(c) O~ H$m°b_ n`m©á ê$n go {dñV¥V Zht h¡ & 

(d) O~ gyÌ CnbãY Zht h¡ &  
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(ii) Where are the amounts owed by customers for credit purchases 
found in books of accounts ? 1 

(a) Accounts Receivable Journal  

(b) General Ledger  

(c) Accounts Receivable Subsidiary Ledger    

(d) Sales Journal  

28. Pie Charts do not have more than ______ categories. 1 

(a) Three 

(b) Twenty  

(c) Twelve  

(d) Seven  

29. Which of the following statement is not a limitation of computerised 
accounting system ? 1 

(a) Data is not made available to everyone.  

(b) Data may be lost or corrupted due to power interruptions.   

(c) Data are prone to hacking. 

(d) Unprogrammed and unspecified reports cannot be generated.  

30. (i) To safeguard assets and optimise the use of resources, a business 1 

(a) Only tries to earn maximum revenue. 

(b) Keeps internal controls. 

(c) Only ensures accurate accounting records. 

(d) Only safeguards assets. 

  OR 

(ii) Correct #####  error appears : 1 

(a) When a number is divided by zero. 

(b) When value is not available.  

(c) When column is not wide enough. 

(d) When formula is not available.  
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31. _o_mo dmCMa , nmoñQ>-S>o{Q>S> dmCMa  VWm ỳµOa-{S>\$mB§S> dmCMa  ?  3 

 

32. {H$Ýht VrZ AmYmam| na Om{VJV gm°âQ>do`a  VWm AZwê$n gm°âQ>do`a  (Q>obS>© gm°âQ>do`a) _| 

AÝVa ñnîQ> H$s{OE &  3 

 
33. (H$) M`Z {H$E JE EH$ MmQ>© KQ>H$ H$m àmê$n {H$g àH$ma ~Xbm Om gH$Vm h¡ ? 

g_PmBE & 4 

 AWdm 

(I) boIm§H$Z gm°âQ>do`a Ho$ {H$Ýht AmR> Cn`moJm| H$s gyMr Xr{OE &  4 

 

34. {H$Ýht Xmo Ad{Y`m| Ho$ _Ü` G$U na Hw$b ã`mO H$m gË`mnZ H$aZo dmbo {dÎmr` H$m ©̀ H$m 

Zm_ ~VmBE VWm Bgo g_PmBE &  6 
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31. -  
-  3  

 

32. 
three basis. 3 

 

33. (a) How can the format of a selected chart element be changed ? 
Explain. 4 

  OR 

(b) List any eight uses of accounting software.  4 

 

34. Name and explain the financial function which will be used to verify the 
total interest on a loan between any two periods.  6 

 


